Which compound has lowest boliling point?
€

{
A. 2-methylhexane » C-C-c-C —-C-c (POJX

-
@z-methylpentane_. e-C€-C-c_¢@ @

e Hexane.-; CLC~cC<c— @

D. 2,2-dimeth C%
Yipentane C~C ~E=E=C @J(
E. Heptane x

C-C*(—(_,——C-Q_..C @)(
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How many Mo
would this mo

A. 5
B. 2
C. 4
D. 3
E. 1

lecule have?
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son?
rhc majnr product of this reaction:

Which B
%
g el cH
Q\_cgm + HBr (excess) —— @—c ;
He ~
G
2) af—'i*_c--gi b) @—C=C ¢) @'CH;"CI [Brs
I_{-
s Br
¢ {_\-C1i—CH,Br ¢) @—?—qij

Hr
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which 18 # correct ﬂﬂs'gnement 0
of carbo atoms i the following gtructure
- Jr"’“gp
HzCﬂCH—CHg-'CEN:
Hz..:: H"'ﬁ'agp
ﬂ‘) C'l - gpj . C"3 - SP » C_4 . qu
h) C"I . "'lpz » C'3 s "‘lp 4 C—4 . qpa
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Which reaction

A }‘Il
a) H_,,c:———é:::c CH;
b) H3C TFE—-E%C:H;
€) HyC lCEE-—-CH;
@ H,C——C=——=C——CH;

c) Hac C‘—__C_CHE

gives acetaldehyd

c cu,t;.:--o

H
1) H,/ Lindlm’n___ c-C=C~C
2) H,0, H’ b =

I
I)O] e (" C-C + H-E-'ﬂ

2)Zn/H* N
HO/HaSOu _ p_cigC

I-IgSO,, 1
1) H,/ Lindl_iu‘:-i -

2) 0, then Zo/H™ o {o

L1

l)]l1l"Ni H‘F-EH“ e—-C
= =
2)O; thenZn/H'
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Which compound has g deactivating
meta-directing group :

o O
N(CH l

a) b) @ c) p
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W2 M — Gl a—-Q soz H
B cl

| —s
) SO
150, / H:80
What is the major pr?duct Lﬁﬂ__lf__é..l“;_:
of the following reaction 2 _@_t:l; 7 FeChy |
SO4H
Eﬂ;H sﬂ,Hc' EE;H : 3 cf
N (o | Cl
I 1" 1 Y
n) Il only
h) I only
c) 11 only
d) IV only
¢)l and 11
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Which of the following names IS s rectr

N"’“l R
O Inllhl._
,_ a) meta-aminonitrobenzene > 0
oy G : - MO
| (/| 4-nitrobenzoic acid @
¢) 1,5-diethylbenzene =\~ ik Ho
%d) pﬁra*cﬂ_chlnmbenzaldehvde Y 5 gl |

e) 5-chlorotoluene
--‘,,5 chly

0| \3

X

cl
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ral)
. tional (structy
cture iéﬂ;"}c‘ig:gﬁl:éHZOH ? CehtD

1) How Sl

Ca\\'ﬁO
Het)
Cﬁu. ﬂ“ S W 12 it
CJ(@: (@) d)H ” ?
T Cco\s0 ¥ O
¢) E}O Cshg
CcHgD
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("‘ﬂﬁf.t iOﬂ/L"‘ﬂﬁ? CoONl., = ﬂﬂ?ﬂ}f- -~ 208 _ L) G = 0-02

;‘.q. [Fnﬁfﬂ"l: 1 dw _le_f.cll]'ﬁ: T d an T leooomlL
i ex= 40.20 X o
= &% a0 = = - Y =
e D“Q;‘ odh —= BOR T 0.0~ {
OOl

The measured rotation a of 10 g/L glucose

solution imna 1 dm tube is + 0.20 degrees,

What happens if a 20 g/L glucose solution Is used?
(Specific rotation glucose = + 52 degrees).

z2) Measured rotation becomes + 0.10 derrees
b).Specific rotation [a] becomes + 26 degrees

@F.‘Eeasu'ed rotation becomes - 0.40 degrees

I g~ & -
c) Specific rotation [«] becomes + 103 degrees

e) Measured i€ i |
=0 and specific rotations will not chanse
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ay 1, 1T and \Y

by 11 only
¢)lonly

dy LU and 1V
) L IV-and V
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wWhich of the following molecules 1s chiral?

Br H Br “"":,-_-.._‘B{. «;,.H"l"’ﬂmit,
> n) I h) = \4 npgnmn_ >
y s, ] H; “H ::—-/ H

H H

Cl OH
M":/} ) ' - d) ap S1OTT
ne "ﬁp H H H
CH,
) Br—t—M
Br——MH
s .
o, 1

CamsScanner = Wigo d>guaall



Which molecule has (R)~conh ficuration?
(Atnmh. mass : H=1: C=12; N=14)

\71- 4 § i ;\H
— é"'\’t ] z S\B ""““uh -
éﬂ)a_,_/ .T\"'-nmz b) l\!"l-s <) H

CH., HO
:1}©x ’ im ¢) (I:H“?a_'
Hzl':l \H =3 '"'*»’;!‘\IHE 3
PO
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What is the name of this compound 7
CHZ—"C_&"—CH;;

1’\/_(5)<

a) 3-butyl-1,3-hexadicnc-5-yne

b) 4-allyl-3-octen-6-ync
c) 4-butynyl-3,5-hexadienc

d)|5-vinyloct-5-en-2-yne

¢) 3-butynyl-1,3-hexadicnc
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CL
H-IC-CHT-E.:.-— Il'.'_—CHL o1 B Lems | g
gr " HC ~——cL ct | _ g,
- H
Which product(s) would addition of HCI
(o the following S-enantiomer yield ?

H &/
: HCl i
(S)-nlkene ¢ HyC—CHp~C—C=CH, —=- diusereome
g H SV ol s
CH, CH; CH; e 60 2
C| e C == | H—'é-Cf Cl—-—é-—H
Bl"-"'é"-H BI"——II:--H j{oC -3
|
CH,CH, CH,CH, CH,CH,
! I 11

a)land I b) I and Il ¢) Il and I
d) T only ¢) 1T only
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What Is the relationship between these molecules’
H (o]}
cl Cl HsC Hy

HJGI CH; H Cl
H H

A. Identical
B. Configurational (geometric) stereoisomers

C. Structural (constitutional) isomers

D.| Conformations (rotamers)

E. unrelated

CamScanner = LWigs d>gwadll



What is the correct name of this compound ? :

@ 5-bromo-1-cthylcyclohexene
b) 4-bromo-2-cthyleyclohexene
¢) I-bromo-3-ethylcyclohex-3-ene
d) I-cthyl-5-bromocyclohexene
¢) 3-bromo-Il-ethylcyclohexene
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Which is the major product of this rcagtmn

c
CH=CH, a Ha
Of FT + HBr ——»
R4

CoEC o O
BT - Jopt
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icture of :
Which is 4 conlnbnlm;r resonance stri

D
O-'C.
ﬂ) :OH T\( //\(

- . -
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what is the IUPAC name of this compound 7
~g** g™
Ay L

\

E.B 3-ethyl-2,7,8-trimethylnonane

8. 2,6-diisopropyloctane

C. 6-ethyl-2-isopropyl-7-methyloctane
D. 7-ethyl-2,3,8-trimethylnonane

E. T-isoprupvl-Z,B-dimethyinonane
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Which Is a major product of this reaction?

RaAPsOl e B D o
‘E/_-\ O Alclj ‘:" « .:[
+ f ~x »
? § K 5\r 7 \é
O CI I
d) @ ¢) 66!
o .
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